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MAT LAB :

SaskyaFreke.m AP
1 %Symbolic Demo, a "word" problem.
2 % How old is Freke?
3 % Eight years ago Saskya was half as old as Freke
4 % In 46 years Saskya will be Freke's present age.
5 % Let x = Saskya's age
6 % y = Freke's age
7
L= syms Xy real
9 . \
10- eqnl = x-8 | (y-8)/2; QXPYCSS]OVLS ! not Q‘ins
ili= eqn2 = Xx + 46 - y;
12
13
14
15 - [x, y] = solve([eqnl,eqn2], [x,y]);
16 AN
7= y = double(y);
18
;g - disp(['Freke is ' num2str(y) ' years old.'])
21
22
23

Command Window

New to MATLAB? See resources for Getting Started.
ey ey

Unable to convert expression containing symbolic variable
substitute values for variables.

Error in sym/double (line 702)
Xstr = mupadmex('symobj::double', S.s, 0);

Error in SaskyaFreke (line 13)
y = double(y);

>> SaskyaFreke
Freke is 100 years old.@

Jx >>
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